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1. The temperature of an object is measured to be 20.050 C. The number of significant digits in this 

measurement is: 

 

i) 2           

ii) 3 

iii) 4 

iv) 5 

 

2. The value of the sum of 415.2  and 11.2  is : 

 

i) 264.4  

ii) 462.4  

iii) 62.4  

iv) 2.4  

 

3. Which of the following equipment is NOT used in determining the radius of gyration of a bar 

pendulum? 

 

i) Vernier Callipers  

ii) Stop watch 

iii) Metre scale 

iv) Telescope 

 

4. The diameter d  of a wire is measured as  02.000.1  mm. The percentage error in the area of                  

cross-section 












 


4

2d
of the wire is: 

i) 2 % 

ii) 4 % 

iii) 3 % 

iv) 5 % 

 

5. Which one of the following gives rise to a RANDOM error in measurement: 

i) Zero error. 

ii) Wear and tear of a screw gauge.  

iii) Improper calibration of an ammeter. 

iv) Fluctuation of the voltage.  

 

6.  A pendulum is set oscillating. In the presence of air drag, its amplitude of oscillation will: 

 

i) increase with time. 

ii) decrease with time. 

iii) stay constant. 

iv) first increase and then decrease with time. 
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7. To reduce the error in the dynamic method for determining the spring constant of the spring, what should 

you  NOT do? 

i) Start your stopwatch after a few oscillations. 

ii) Count the time taken for 50 or more oscillations. 

iii) Calculate the time period using only an increasing load. 

iv) Carry out the measurement with at least five different loads. 

 

8. Which one of the following is NOT used for determining the torsional rigidity of a wire? 

i)       micrometer screw 

ii)       physical balance 

iii)       vernier calipers 

iv)       metre scale 

 

9.   For an elastic collision of two masses: 

i) only linear momentum is conserved. 

ii) only kinetic energy is conserved. 

iii) both linear momentum and kinetic energy are conserved. 

iv) neither linear momentum nor kinetic energy is conserved. 

 

10.   Stationary waves are set up in a wire fixed at both ends as shown in the figure below:  

 

 

 

 

 

 

       The point/points at which the wire remains stationary at all times is/are: 

i)  A and B 

ii) A  

iii) B 

iv) C 

 

11. In a sonometer experiment, suppose the mass per unit length of the string is increased to four times its 

value. In this case, the wavelength: 

 

i) is doubled. 

ii) is halved. 

iii) does not change. 

iv) is reduced to one fourth. 

 

 

 

 

 

A 

C 

B 
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12. A pendulum has length L  and the amplitude of its oscillation is x . To verify the principle of 

conservation of mechanical energy we have to show that at the extreme positions: 

i)  constant
2


L

x
 

ii)  constant
L

x
 

iii)  constant2 Lx  

iv)  constantxL    
 

13. Which of the following is NOT required for determining the Young’s Modulus by the bending of 

beams  method?  

i) Microscope 

ii) Knife edges 

iii) Tuning fork 

iv) Vernier Callipers  

 

14.   Which one of the following is used to measure low resistance?  

i) Inductor 

ii)  Carey Foster’s Bridge  

iii) Capacitor 

iv)  Audio Frequency Oscillator   

 

15. In the null method, the galvanometer in the Wheatstone bridge in balance condition, registers:  

i) maximum current. 

ii)  only 30% current.  

iii) only 60% current  

iv)       zero current   

 

16. In Seebeck effect, the generation of current in the loop is due to difference in 

i) charges. 

ii)  resistances.  

iii) temperatures.  

              iv)       capacitances.  
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17. The loop comprising two different metals, used for measuring temperatures is called 

i) calorimeter 

ii)  thermocouple  

iii) potentiometer  

iv)        meter bridge   

 

18. In resonance condition in the series LCR circuit, the impedance is 

i) minimum. 

ii)  0.707 of maximum.  

iii) maximum.  

iv)       0.63 of minimum.   

 

19. Typical range of values of Quality Factor of an LCR circuit is of the order of  

i) 10
7

  10
9

  

ii) 10
1

  10
0
  

iii) 10
2
  10

5
  

iv) 10
7
  10

9
  

 

20. To prepare a p-type semiconductor, silicon is NOT doped with  

i) aluminium  

ii) gallium  

iii) boron  

iv) germanium  

 

21. The thickness of the depletion region or space-charge region in an unbiased p-n junction is 

approximately  

i) 0.5 mm   

ii) 0.5 cm   

iii) 0.5 m  

iv) 0.5 m  
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22.  For proper functioning of a bipolar juction transistor, the following biasing is required: 

i)           Emmiter-base junction forward biased and collector-base junction reverse   

biased. 

ii)          Emmiter-base junction reverse biased and collector-base junction forward 

biased. 

              iii)        Both Emmiter-base junction and collector-base junction forward biased. 

iv)         Both Emmiter-base junction and collector-base junction reverse biased. 

 

23.   Input characteristics of a bipolar junction transistor are obtained by measuring 

i) IB versus VCE while keeping VBE constant 

ii) IB  versus VBE while keeping VCE constant 

iii) IC versus VCE while keeping IB constant 

iv) IC  versus VBE while keeping IB constant 

24.  Which of the following controls is NOT available on the cathode ray oscilloscope (CRO) front 

panel? 

i) Focus 

ii) Time/Div  

iii) Volts/Div  

iv) Frequency/Div  

25.  Sine wave signal is measured using 0.5 ms/cm time base setting on a CRO and the distance 

between the two successive maxima is 2 cm. What is the frequency of the signal? 

i) 100 Hz 

ii) 1 kHz 

iii) 10 kHz 

iv) 100 kHz 

 

             ********************* 
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foKku Lukrd (ch-,l lh-) 

ekpZ ijh{kk 2021 

ikB~;Øe dksM: BPHL-103     ikB~;Øe “kh’kZd:  Hk©frdh ç;ksx'kkyk  I  (ØsfMV: 4) 

 

le;: 1 ?k.Vk        vf/kdre vad: 50 

—i;k fuEufyf[kr fooj.k nhft,% 

vuqØekad la[;k vadksa esa  

         

vuqØekad la[;k 'kCnksa esa  

   
 

     

ijh{kk dsUnz dksM 

      

 

 

 

fnu vkSj fnukad……………………………….. 

ek/;e (vaxszth/fgUnh)………………………… 

ijh{kkFkhZ dk uke……………………………….. 

ijh{kkFkhZ ds gLRkk{kj…………………………… 

fujh{kd ds gLrk{kj……………………………. 

 

dsoy ewY;kadudrkZ Hkjsa % 

çkIr vad…………………………………….. 

ewY;kadudrkZ ds gLrk{kj …………………. 

ewY;kadudrkZ dk uke……………………….. 

ewY;kadudrkZ dksM ……….…………………. 

 

  

 

…………………………………………………… 

ijh{kk v/kh{kd dh eksgj] dsUnz dksM ds lkFk  

ijh{kkFkhZ —i;k uksV djsa :  
 

  i) ;g ,d oLrqfu’B izdkj dk iz”u i= gSA  

ii) bl iz”u i= esa 25 iz”u gSaA vkidks buesa ls dsoy 20 iz”uksa ds mÙkj nsus gSaA izR;sd iz”u ds 2½ 

vad gSaA Árhd¨a ds vius lkekU; vFkZ gSaA  

iii) izR;sd iz”u esa pkj fodYi fn, x, gSa ftuesa ls dsoy ,d fodYi lgh gSA lgh fodYi pqudj] 

blh Á'ui= ij] mlds lkeus ckWDl esa  √  dk fpg~u yxkb,A  

iz”uksa ds mÙkj nsus ds Ik”pkr~] bl iz”ui= dks vius fujh{kd dks nsuk vfuok;Z gSA 
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1.   fdlh oLrq dk rkieku 20.050 C ekik tkrk gSA bl eki esa lkFkZd vadksa dh la[;k gS% 
 

i)  2 

ii)  3 

iii) 4 

iv)  5 

 

2. 415.2  vkSj 11.2  ds ;ksx dk eku gS : 
 

i) 264.4  

ii) 462.4  

iii) 62.4  

iv) 2.4  

 

      3.  fuEufyf[kr esa ls dkSu ls midj.k dk mi;ksx ,d naM yksyd dh ifjHkze.k f=T;k ds     

fuèkkZj.k esa ugÈ gksrk\ 

i) oÆu;j dSfyilZ  

ii) fojke ?kM+h 

iii) ehVj Ldsy 

iv)     nwjchu 

 

4. ,d rkj dk O;kl  02.000.1 d mm ekik tkrk gSA rkj ds vuqçLFk ifjPNsn ds 

{ks=Qy












 


4

2d
 esa çfr'kr =qfV gS % 

i)       2 % 

ii)  4 % 

iii)  3 % 

iv)  5 % 

 

5.    fuEufyf[kr esa ls fdlds dkj.k ekiu esa ;k–fPNd =qfV mRiUu gks ldrh gS\ 

i) 'kwU;kad =qfVA 

ii) LØw xst dh th.kZrk­'kh.kZrk lsA 

iii) ,ehVj ds v'kq) va'k'kksèku lsA 

iv)   oksYVrk esa mPpkopu lsA 



9 

 

6-  ,d yksyd dks nksfyr fd;k tkrk gSA ok;q d"kZ.k dh mifLFkfr esa nksyu dk vk;ke %  

i) le; ds lkFk c<+rk gSA 

ii) le; ds lkFk ?kVrk gSA  

iii) vpj jgrk gSA  

iv)    igys c<+rk gS] fQj ?kVrk gSA 

 

7.  xfrd fofèk }kjk dekuh ds dekuh fu;rkad ds fuèkkZj.k ds ç;ksx esa =qfV dks de djus ds fy, gesa 

fuEufyf[kr esa ls D;k ugÈ djuk pkfg,\  

i) dqN nksyu ä ds ckn fojke ?kM+h dks pkyw djuk A 

ii) 50 ;k blls vfèkd nksyuksa esa yxs le; dks ekiuk A  

iii) dsoy c<+rs gq, Hkkj ds lkFk vkorZdky dk ifjdyu djuk A  

iv)    de ls de ikap vyx Hkkjksa ds lkFk ekiu djuk A 

 

8.   rkj dh foeksVh –<+rk dks fuèkkZfjr djus ds fy, fuEufyf[kr esa ls fdl midj.k dk                            

   ç;ksx ugÈ gksrk\ 

i) ekbØksehVj LØw  

ii) HkkSfrd rqyk 

iii) oÆu;j dSyhilZ 

iv) ehVj iSekuk 

 

9. nks æO;ekuksa ds çR;kLFk la?kêu esa % 

i) dsoy jSf[kd laosx lajf{kr jgrk gSA  

ii) dsoy xfrt ÅtkZ lajf{kr jgrh gSA  

iii) jSf[kd laosx vkSj xfrt ÅtkZ] nksuksa gh lajf{kr jgrs gSaA 

iv) u rks jSf[kd laosx vkSj u gh xfrt ÅtkZ dk laj{k.k gksrk gSA 

 

10. nksuksa fljksa ij caèks ,d rkj esa vçxkeh rjaxsa LFkkfir dh x;h gaS] tSlkfd fuEufyf[kr                              

fp= esa fn[kk;k x;k gS % 

 

 

 

   ftl Çcnq@ftu Çcnqvksa ij rkj gj le; xfrghu jgrk gS] og gS@ os gSa % 

i)   A vkSj B 

ii)  A 

iii)  B 

iv)  C 

A 

C 

B 
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11.  eku ysa fd lksuksehVj ç;ksx esa rkj d¢ çfr bdkÃ yEckÃ æO;eku dks pkj xquk                   

    fd;k tkrk gSA blls rjaxnS?;Z %     

i) nksxquk gks tkrk gSA 

ii) vkèkk gks tkrk gSA  

iii) esa dksÃ ifjorZu ugÈ gksrkA  

iv) ,d pkSFkkÃ gks tkrk gSA  

 

12.  ,d ljy yksyd dh yackÃ L gS vkSj blds nksyu dk vk;ke x gSA ;kaf=d ÅtkZ laj{k.k fl)kar 

dks lR;kfir djus ds fy, gesa ;g fl) djuk gksxk fd pje fLFkfr;ksa ij % 

i)    vpj
L

x2

 

ii)     vpj
L

x
 

iii)    vpjLx2  

iv)    vpjxL  

 
13.  naM cadu fofèk ls ;ax dk xq.kkad fuèkkZfjr djus ds fy, fuEufyf[kr esa ls fdl                               

midj.k dk mi;ksx ugÈ gksrk\ 

i)  lw{en'kÊ  

 ii)  {kqjèkkj   

 iii)  Lofj= f}Hkqt 

       iv)  oÆu;j dSfyilZ  

 

14. U;wu izfrjks/k ekiu ds fy, fuEufyf[kr esa ls fdldk mi;ksx fd;k tk ldrk  

       gS\ 
 i)   izsjdRo 

      ii)      dSjh QksLVj fczt 

      iii)     la/kkfj= 

      iv)     JO; vko`fÙk nksfy= 

15.  'kwU; fof/k esa] larqyu fLFkfr ds fy, OghVLVksu fczt ds /kkjkekih esa 
 i)    vf/kdre /kkjk izokfgr gksrh gSA 

    ii)      dsoy 30 izfr'kr /kkjk izokfgr gksrh gSA 

 iii)     dsoy 60 izfr'kr /kkjk izokfgr gksrh gSA 

 iv)     'kwU; /kkjk izokfgr gksrh gSA 
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16.  tScsd izHkko esa] ywi esa /kkjk ds tuu dk dkj.k fuEufyf[kr esa ls dkSu lk  

varj gS\ 
 i)     vkos'kksa esa  

 ii)      izfrjks/kksa esa 

 iii)     rkiekuksa esa 

 iv)     la/kkfj=ksa esa 

17.  rkiekuksa ds ekiu esa ç;qä gksus okys nks /kkrqvksa ls cuk ywi fuEufyf[kr esa ls 

D;k dgykrk gS\ 
 i)    dSyksjhehVj 

 ii)      rki oS|qr ;qXe 

 iii)     foHkoekih 

 iv)     ehVj fczt 

18. Js.kh-LCR ifjiFk dh vuquknh voLFkk esa izfrck/kk  

i)    U;wure gksrh gSA 

ii)    vf/kdre ds 0.707 xq.kk gksrh gSA  

iii)   vf/kdre gksrh gSA  

iv)   U;wure dk 0.63 xq.kk gksrh gSA  

19. LCR ifjiFk esa xq.krk dkjd dk çfr:ih eku fuEufyf[kr esa ls fdl dksfV dk  

gksrk gS\  

i)    10
7

  10
9

  

 ii)    10
1

  10
0
  

iii)   10
2
  10

5
  

iv)   10
7
  10

9
  

       20. p-izdkj dk v/kZpkyd cukus ds fy, flfydkWu dk eknu fuEufyf[kr esa ls 

fdlls ugha fd;k tkuk pkfg, \  

i) ,Y;qfefu;e   

ii) xSfy;e   

iii) cksjkWu   

iv) tesZfu;e  

      21.     ck;lu jfgr  p-n laf/k esa gzklh {ks= ;k vkdk”k vkos”k {ks= dh eksVkÃ gksrh gS  

yxHkx % 

i) 0.5 mm   

ii) 0.5 cm   

iii) 0.5 m  

iv) 0.5 m  

 



12 

 

22.  f}Ëkzqoh laf/k VªkfUt+LVj ds lgh çpkyu ds fy, fuEufyf[kr ck;lu dh vko';drk gksrh gS % 

 

i)  mRltZd-csl laf/k vxzfnf'kd vkSj dysDVj-csl laf/k i'pfnf'kd ck;flr 

 ii)  mRltZd-csl laf/k i'pfnf'kd vkSj dysDVj-csl laf/k vxzfnf'kd ck;flr 

iii)  mRltZd-csl vkSj dysDVj-csl] nksuksa laf/k;ka vxzfnf'kd ck;flr 

iv)  mRltZd-csl vkSj dysDVj-csl] nksuksa laf/k;ka i'pfnf'kd ck;flr 

 

23. f}èkzqoh lafèk VªkfUt+LVj ds fuoss”k vfHky{kf.kd çkIr djus ds fy, fuEufyf[kr esa ls dkSu ls ekiu          

       fd, tkrs gSa\ 

i) VBE  dks fu;r j[k dj IB  cuke VCE  

ii) VCE  dks fu;r j[k dj IB  cuke VBE  

iii) IB  dks fu;r j[k dj IC   cuke VCE  

iv) IB  dks fu;r j[k dj IC   cuke VBE 

 

24.  dSFkksM fdj.k v‚flyksLdksi ¼CRO½ ds vxz iSuy ij fuEufyf[kr esa ls dkSulk fu;a=d ugha gksrk 

gS\ 

i) Qksdl (Focus) 
ii) le;/Hkkx (Time/Div) 
iii) oksYVrk/Hkkx (Volts/Div) 
iv) vko`fÙk/Hkkx (Frequency/Div)  

 

      25.     CRO ij 0.5 ms/cm le;-csl p;u ds lkFk ,d T;koØh; rjax:i dk ekiu fd;k x;k gSA    

;fn flXuy ds nks mfPp"Bksa ds chp dk varj 2 cm gks] rks bldh vko`fÙk D;k gksxh\ 

i) 100 Hz            

ii) 1 kHz            

iii) 10 kHz             

iv) 100 kHz 

 

 

*************************************** 


